SST
SST, SST Science

SST Table
Typical Assembly #10 x 3/4” screws

5/16"-18 x 1” bolt w/
captive lock washer

Corner mounting
bracket

Hardware Included: Tools Required:
e #2 Phillips Head Screwdriver
e #3 Phillips Head Screwdriver

/ -
\/ Qo> &)

3/4” x 1" x1” #10 x 3/4” screws #8 x 3/8” screws 5/16"-18 x 1”
L-Bracket (in to rails and (used to attach frame PH bolt w/captive lock
wooden tops) to epoxy tops) washer
Step 1:

Attach each leg to the apron by bolting through a corner mounting bracket into welded threaded insert in leg
using (2) 5/16-18 x 1” bolt per leg.

Step 2:

To attach frame assembly to the table top place the table top upside down on a clean, padded surface.
Center the length and width of welded table frame on the underside of the top. Secure frame to table top
through L Brackets with #10 x 3/4” PH Screws into both the frame and bottom of top.

instructions-sst-200313

Assemble tables only as described in this ' H -
guide. All fasteners must be tightened ‘ I I I e I a
4 securely and checked regularly. Failure to

AUTION do 5o could cause instability and injury. tech nO|Og 1es




